1990 4E 5% [4]

(1)
HBE L TOHtR%D, 3 8P, Q RDEMEIX, P, 0,0),Q(2t, 0),R2 2 t)RBT5,

—_— —_— — 2 — 2
QP =(t-2, —t,0), QR =(0, 2—t, t) £ ¥ ‘QP‘ :‘QR‘ —(t-2)% +t2 =22 —4t+4

L7eR->T, ZAEPQRIZ. WIZ SN A THD, GEWK)
(2)
QP -QR =-t(2-t)=t?~2t T Y. LPQR=0 LT 5 &

t2 -2t

-, — 2
QP -QR :‘QP‘ cos6 = (2t* ~4t+4)cosf =t* -2t  cosf=———
2t° -4t +4

2
1=—=* . 1 1 t? -2t
82:—‘QP‘ Sin2 == (2t2 — 4t +4)%(1—cos? ) = — (2% — 4t + 421 | —— —
4 4 4 22 —4t+4

:%{(m2 —at+4)? - (t2 - 2)?)

T=t?-2t LB &, T=(t-)2-1=2-1ThHVY,

2
s2=Lleria? 12)=l@re ceT v =214 2| -2
4 4 a\' 73) 73

SPETZ LBV THFAEINTHLIND, T=—10L R/ D,
T=—1Dt& (t-1)?=0 ..t=1

PLEIZX Y, SHE/NIRD D15, (%)

PR [41121X (1) 23720,

T=t?-2t L EEHZ UL REBOR/MEIZIRESND D, t OFRSTHRONTH L,



